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sdd2 out not kstop (sdd1 reset = 0)
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What is 2 normal event ?

All coincidence events with the reset of next sdd cause noise !

-> checked by the correlation of next fout and out

sdd1 fout vs sdd2 out not kstop
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sdd1 fout vs sdd2 out not kstop

sdd2 not kstop
159349 events
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sdd1 fout vs sdd2 out not kstop (sdd1 reset > 0)
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sdd1 fout vs sdd2 out not kstop (sdd1 reset = 0)
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sdd1 fout vs sdd2 out not kstop (sdd1 reset > 0, upper > 0)
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dd1 fout vs sdd2 out not kstop (sdd1 reset > 0, upper = 0)

0
oA

S, — hil
5 - Entries 2411
o - Mean x 2467
60 Meany — 41.06
E RMS x 1166
55 RMS y 2.016
r 0] 535 0
r 0| 1876 0
50 0 0 0
45
40
350 S
30
25 : 11 1 1 I 11 1 | I 11 1 1 I 11 1 1 I 11 1 | I 11 1 1 I 11 1 1 I 11 1 | I

(=)

500 1000 1500 2000 2500 3000

3500

4000
out



Conclusion

* next sdd’s reset and upper events cause the noise

-> these events are about 20 % for sdd?2
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